CATALOGO RICAMBI
SPARE PARTS CATALOGUE
CATALOGUE PIECES DETACHEES
ERSATZTEILKATALOG
CATALOGO DE PIEZAS DE RECAMBIO

BMON500T
BMON542T



TAVOLA 1




Listino componenti per pagina 1

1 270205480 GRIGLIA DI GHISA SCARICO FUMI PIANO
GRILLE EN FONTE EVACUATION FUMES
CAST IRON GRID F.FUMERISER
GUSSEISEN ROST FUER ABGASE
2 A00460 ASS. TUBO TROPPOPIENO B-M
ASS.TUYAY TROP-PLEINE BAIN MARIE
B-M OVERFLOW PIPE ASS.
B-M UBERLAUFROHR
3 370000119 GUARNIZIONE OR 119 PER TROPPOP
JOINT OR 119 DE TROP PLEIN
OR GASKET 119 FOR OVERFLOW
OR DICHTUNG 119 FUR UBERLAUFROHR
4 A00703 ASS. PILETTA SCARICO B-M
ASS.BOCARD VIDANGE BAIN MARIE
B-M DRAIN ASS.
B-M ABLAUFSATZ
5 A00711 ASS. RUBINETTO CON GETTO B-M
ASS.ROBINET AVEC JET
B-M TAP W/JET ASS.
WASSERHANH SATZ FUR BAIN MARIE
8 270201680 DADO PER BICONO 10/S-M20X1,5
ECROU POUR BICONE 10/S-M20X1,5
NUT FOR NOSE CONE 10/S-M20X1,5
MUTTER FUER BICONE 10/S-M20X1,5
9 270201580 BICONO DM.10 S
BICONE DIAM.10 S
NOSE CONE DIAM.10 S
BICONE DIAM.10 S
10 290204050 RESIST. CORAZZATA BM 2700W 230V
RESISTANCE B-MARIE 2700W 230V
Recommended HEATING ELEMENT B-MARIE 2700W 230V
spare parts BAIN MARIE HEIZKOERPER 2700W 230V
12 53002420904 CONTATTORE MOTORE BG9.4
CONTACTEUR
Recommended CONTACTOR
spare parts FERNSCHALTER
13 | A00410 ASS. LAMPADINA SPIA ARANCIO
VOYANT ORANGE
Recommended ORANGE PILOT LIGHT
spare parts ORANGENE SIGNALLEUCHTE
14 | A00409 ASS. LAMPADINA SPIA VERDE
VOYANT VERT
Recommended GREEN PILOT LIGHT
spare parts GRUNE SIGNALLEUCHTE
15 53401003090 TERMOST. MONOFASE 30°-90°C
THERMOSTAT MONOPHASE (30-90° C)
Recommended SINGLE PHASE THERMOSTAT (30-°90°C)
spare parts EINPHASIGER THERMOSTAT (30-90° C)
16 |52021625 INTERRUTTORE BIPOLARE 16A 250V
INTERRUPTEUR MONOPHASE 16A 250V
Recommended SINGLE-PHASE SWITCH 16A 250V
spare parts EINPHASIGER SCHALTER 16A 250V
17 652502 MORSETTIERA FV 122 6 POLI
BOITE A BORNES FV 122 6 POLS
TERMINAL BOARD FV 122 6 POLES
KLEMMKASTEN FV 122 6 POLEN
18 |A00713 ASS.MORSETTIERA PA80 F/F 3 ELEMENTI
ASS.BOITE A BORNES PA80 F/F 3 ELEM.
TERMINAL BOARD PAS80 ASS.
KLEMMKASTEN PA80




19 53401005320 TERMOSTATO MONOFASE 50°-320°C
THERMOSTAT MONOPHASE (50-320°C)
Recommended SINGLE PHASE THERMOSTAT (50-320°C)
spare parts EINPHASIGER THERMOSTAT (50-320 C)
20 [770124750 ASS. MANOP. EL.TERM. 30-90°C STYLE
ASS.BOUTON EL.THERM. 30-90°C STYLE
Recommended ELECT.THERMOSTATIC KNOB ASS.30-90°C
spare parts THERMOSTAT KNEBEL 30-90°C
24 1421015012 CURVA 45° M-F 1/2
TUYAU COURBE 45° M/F 1/2
M-F 45° ELBOW
M-F 45° KNIEROHR
28 |LOGO LOGO PER MANOPOLA
LOGO POUR BOUTON
LOGO FOR KNOBS
LOGO FUR KNEBEL
29 | 770124690 ASS. MANOPOLA ELE.INT. 2-POS. STYLE
ASS.BOUTON ELE. INT. 2 POS. STYLE
Recommended ELEC-2-POS. KNOB ASS.
spare parts EL.2 POSITIONEN KNEBEL SATZ
30 290202430 MOLLA PER MANOPOLA
RESSORT DE BOUTON
Recommended KNOB SPRING
spare parts KNEBELFEDER
31 290204920 BORCHIA PER MANOPOLA BLU
ANNEAU POUR BOUTON BLEU
Recommended BLUE RING FOR GAS KNOB
spare parts BLAUEN RING FUER KNEBEL
48 (241202700 NIPPLO F. X RUBIN. DM.12-1/2
CONNECTEUR POUR ROBINET DM.12-1/2
NIPPLE FOR COCK DM.12-1/2
VERBIENDUNG FUR HAHN DM.12-1/2
51 4212501 MANICOTTO RID. F-M 3/4 - 1/2
DOUILLE RED. M-F 3/4 - 1/2
M-F 3/4 -1/2 REDUCING COUPLING
M-F 3/4 -1/2 VERBIENDUNGSROHR
52 (421012012 GOMITO UGUALI F-F 1/2
COUDE F-F 1/2
1/2 F-F- ELBOW
ELBOGEN ROHR F-F 1/2
53 |790333340 TUBO 1/2 SC.TOP B-M
TUYAU 1/2 VIDANGE BM
1/2 DRAIN PIPE FOR B-M TOP
1/2 ABLAUFSROHR FUR BAIN MARIE
67 43101001 RACCORDO INTERMEDIO A GOMITO
RACCORD INTERMEDIAIRE COUDE
ELBOW -SHAPE INTERMEDIATE SHELF
ZWISCHEN KNIEROHR
68 |A00712 ASS. CONDUT. ENT. ACQUA B-M TOP 900

ASS.CONDUITE ENTREE EAU B.M.900
WATER INLET PIPE ASS. B-M TOP .
WASSER EINGANGSLEITUNG FUR BAIN MARIE TISCHAUSFUHI




